
SAP ABAP table BAPI_CPE_TERMALL_OUT {CPE Term - All Results}

BAPI_CPE_TERMALL_OUT

USEDUOM [UNIT (3)]

TERMCONVOUT_GUID [RAW (16)]

PERDTOUT_GUID_Q [RAW (16)]

PERDTOUT_GUID_C [RAW (16)]

TERMSTATUS [NUMC (2)]

BILLING_BLOCK [CHAR (2)]

TERMCURR [CUKY (5)]

TERMUOM [UNIT (3)]

QUOTCURR [CUKY (5)]

QUOTUOM [UNIT (3)]

SURCHRATECURR [CUKY (5)]

SURCHRATEUOM [UNIT (3)]

CPEC_BLOCKING

CLIENT [CLNT (3)]

BILLING_BLOCK [CHAR (2)]

 BAPI_CPE_TERMALL_OUT-BILLING_BLOCK = CPEC_BLOCKING-BILLING_BLOCK 

0..N

{0,1}

CPEC_TERMSTATUS

CLIENT [CLNT (3)]

TERMSTATUS [NUMC (2)]

 BAPI_CPE_TERMALL_OUT-TERMSTATUS = CPEC_TERMSTATUS-TERMSTATUS 

0..N

0..N

CPED_PERIODDTOUT

CLIENT [CLNT (3)]

PERIODDTOUT_GUID [RAW (16)]

 BAPI_CPE_TERMALL_OUT-PERDTOUT_GUID_C = CPED_PERIODDTOUT-CLIENT 
1

1  BAPI_CPE_TERMALL_OUT-PERDTOUT_GUID_Q = CPED_PERIODDTOUT-CLIENT 1

1

CPED_TERMCONVOUT

CLIENT [CLNT (3)]

TERMCONVOUT_GUID [RAW (16)]

CONVPLACE [NUMC (4)]

 BAPI_CPE_TERMALL_OUT-TERMCONVOUT_GUID = CPED_TERMCONVOUT-CLIENT 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BAPI_CPE_TERMALL_OUT-QUOTUOM = T006-MSEHI 

0..N

1
 BAPI_CPE_TERMALL_OUT-SURCHRATEUOM = T006-MSEHI 

0..N

1

 BAPI_CPE_TERMALL_OUT-TERMUOM = T006-MSEHI 

0..N
1

 BAPI_CPE_TERMALL_OUT-USEDUOM = T006-MSEHI 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BAPI_CPE_TERMALL_OUT-QUOTCURR = TCURC-WAERS 

0..N

1

 BAPI_CPE_TERMALL_OUT-SURCHRATECURR = TCURC-WAERS 
0..N

1

 BAPI_CPE_TERMALL_OUT-TERMCURR = TCURC-WAERS 0..N

1


